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60 UPDATE JOB_AUDIT_STHT SET
61 JOB_STATUS = *COMPLETED",
62 JOB_END = SYSDATE,

63 RECS_PROCESSED - 1_limit

64 WHERE STEP - 1_step;

65 COMHIT;

66 END LOOP;

67

68 COMMIT;

69

78 CLOSE €13

7

72 END JCP_UPDATE_STHT_ROWID;

73/

Procedure created.

Elapsed: 00:00:00.18
ILOADER_CDCI_CDGIP4-->BEGIN
2 JGP_UPDATE_STHMT_ROWID(p_in_JOB_NAHE => *JCP_UPDATE_STHT_200706" ,
p_in_Start_Date => '01-JUL-2006",
P_in_End_Date -> '31-JUL-2006');

error signaled in parallel query server P28
the suspended (resumable) statement has timed out

unable to extend temp segment by 32 in tablespace TEMP_LOAD
at “LOADER_CDCI .JCP_UPDATE_STHT_ROVID", line 37

at line 2

36:8179.18
ILOADER_CDCI_CDCIP4-->UPDATE /x+ PARALLEL(A,32) */ OWNER_CDCI.STATEWENT_FACT A SET A.NET_OF_GROSS_SAL
ES =

2 A.CROSS_SALES = NULL

3 WHERE BILLING_CYCLE_DATE BETWEEN '01-JUL-2005° and *31-Jul-2006"
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